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Question 1

Question Type: MultipleChoice

Array waveguide grating (AWG) multiplexer/multiplexer has the following advantages: short wavelength spacing, large number of
channels and flat passband. Suitable for DWDM systems in ultra-high speed, large tubes.

Options:

A- True

B- Error

Answer:

Question 2

Question Type: MultipleChoice




Establish Ethernet leased line service between HI (HQ) and H2 (branch) of enterprise H, and bind 5 in the corresponding VCTRUNK VC-
12. When a VC-12 fails, the Ethernet dedicated line between H1 and H2 is interrupted. So, which of the following statements is true?

Options:

A- enables the LXAS feature on the port used by the Ethernet Leased Line service between H1 and H2.
B- Enable the LCAS feature on the VCTRUR port used by the Ethernet Leased Line service between H1 and H2. (Correct answer’
C- Enable the QIinQ feature on the ports used by H1 and H2 Division's Ethernet Leased Line service.

D- Enable the QinQ function on the VCTRUNK port used by the Ethernet Leased Line service between H1 and H2:

Answer:

B

Question 3

Question Type: MultipleChoice

The number of bit error blocks on each VC4 channel is detected by B3 on the receiving side. At the same time, the information is sent
back to the sender via Q, and HP-REI and HP-FEBBE report on the sender.



Options:

A- K3 (b1-b4)
B- G1 (b5-b8
C- G1 (b1-b4)
D- J(bt-4)

Answer:

C

Question 4

Question Type: MultipleChoice

QinQ technology can be used when multiple users need to share the same VCTRUNK and use the same VLAN ID.

Options:

A- True



B- Error

Answer:

Question 5

Question Type: MultipleChoice

On OSN Series transmission devices, ethernet ports cannot access tagged and untagged frames at the same time

Options:

A- True

B- False

Answer:

B



Question 6

Question Type: MultipleChoice

Thel310nm and 1550nm transmission windows are low loss windows. In DWDM systems, only the 1560m transfer window is used.
Which of the following is the main cause?

Options:

A- The EDFA operating wavelength flatness region is contained in this window.
B- The nonlinear effect of the B.1550 nm-wavelength region is small.
C- The 1550nm wavelength region is suitable for long-distance transmission.

D- None of the above

Answer:

A

Question 7

Question Type: MultipleChoice




Optical monitoring channel is used for monitoring of WDM optical transmission systems. In the UU-T recommendation, it is preferable to
use a 1510 nm wavelength of the a ") rate.

Options:

A- 64 Kkbit/s
B- 192 kbit/st
C- 2 Mbit/s
D- 5676 kbit/s

Answer:

C

Question 8

Question Type: MultipleChoice

When a bit error is detected in B2 bytes, which of the following alarms is reported by the peer?



Options:

A- MS-AIS
B- RS-BBE
C- MS-FEBBE
D- MS-BBE

Answer:

C

Question 9

Question Type: MultipleChoice

The interval between two adjacent pointer alignment events is at least () frames.

Options:

A-5



B-4
C-3
D- 2

Answer:

C

Question 10

Question Type: MultipleChoice

For 100G (112Ghit/s) signals, the actual data baud rate is only 28G amplitude.

Options:

A- True

B- Error

Answer:




Question 11

Question Type: MultipleChoice

OChr means the use of electrical monitoring technology.

Options:

A- True
B- Error

Answer:
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